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B.Sc. (Part 1) Examination of the
Three Year Degree Course, 2017

CHEMISTRY
Paper-1
CH-101:Inorganic Chemistry-1

Time - Three Hours
Maximum Marks - 50
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The questions of Part A are compulsory. The
answers of these guestion are inmued upto M

Note:- ()

words cach. Each quesnon carmies L marks,
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(2) Attempt Five questions in all, selecting ONE
question either (A) or (B) from each unit. The
answer of each question shall be limited upto
250 words. Each question carries 3 Y2 marks.
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(3) Attempt THREE questions in all from this Part.
The answer of each question shall be limited upto 500
words. Each question carries 7 ¥4 marks.
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C, molecule is diamagnetic.

i) #EEa DI 0,03 0 B afem HAT!
Arrange 0,,0,* and O, in the order of bond order.

(] ST Sl 1 gRkfe S |

| Define the Lattice energy.
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;:: iy @R afed Iweret & CuCl & e @ NaCl J A
3 4l B 2 |

E Explain why melting Point of CuClis Jower than NaCl.
S}

g (V) ﬁaﬁ/ TR T 8

What is diagonal relationship.

(vi) s;ﬁéaﬁi%qwmﬁw%mmﬁ%%u

“The I ionisation Potential of alkali (S-block) metals
are very low. why?

;vii)/fa?%aﬁﬁa‘{$mﬁ‘lﬁivﬁﬁarﬁmgrngﬁma
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Name any two elements which exhibit inert pair effect.
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What do you understand by 'Etching of glass'?
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Give names of four Interfering radicals.  1x10=

A —9
Part - B
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hat are the limitations of Valence bond Theory?

Hqi
or

B. 310 3graaa &

Be, 3] S8 &rat &1

B.molecule is Paramagnetic.

Be. molecule is not formed. 2+1)=3%

zare - 11
Unit - 11
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Write a short note on Vander waal's forces. 3¥%a
G|
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T 1 ¥ | fa geR & B & 9w fafau
at 1s hydrogen bond? How many types, give the
names. (1Y2+2)=3"2

g8 — 1
Unit - 111

§¥ 9 &Y Ha1 dcdl & anaiiaeur sawan fHfau |

g Write the oxidation states of alkali and Alkaline earth
4 metals. http//www._nvuonline.com 314
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& What is Portland cement? Give its chemical
§ composition. (1¥2+2)=3%
&g — 1V
Unit-1V
4 %ﬁ? o S S AR |
Give types of glasses and their uses. 1V2+2=32
RG]
- or
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Explain the Natural fixation of Nitrogen?

THIE -V
Unit- vV
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Explain the test of fluoride and its removal.

i
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v e g ¥ ag Hel s @ e
HHE # W=F HNo, asrﬁamaaﬂ\—m%%l
To add dil HCI acid in II group.
(1) Why necessary to add conc HNo, in III Group,
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What is hybridisation? Give the relation between

geometry and types of hybridisation in molecules. Give
~examples, 2V2+5=T"
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NaCl 3R CsCl & a7 & {ag=n ) 379 Hod

AU T B |

Discuss the structure of NaCl and CsCl. Calculate the
radius ratio of their ions. 2V54-5=TV2

U T A S @B acl @ Bl GHSEY?

S &ile & d@ B NTF TTEA B ¢

S it e B HHe Tad |

&R §&T urgall & FEE Igere A ¥
Function of S-Block in biosynthesis, Explain.
Why ions of S-Block elements are colourless.
Complexation tendency of S-Block elements.
Carbonates of alkaline earthmetals are insoluble.

A+ +2+2=TV2

C.Si.Ge.Sa-aai Pb & et wRM & T A W &

P fade i)

(i) e B gy 9 B o e ¥ e A .

J,;’h)

(1)

e r‘"]_w W i
/ Justify the position of C,S1,Ge,Sn and Pb in same group
of the periodic table.

Explain the reasons why nitrogen is different from
other members.
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What are the group reagent? write names of the group
reagent for the 1 to 6th group for the basic Radicals.
5%
2

Explain the chromyl chloride test.
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